Platform Bed
Set—up Instruction

R32:03/03A/04/04A

Size:Full/Queen

—_
®x2
% \
Ox2 Ox1

[ Y Y = I |

¢

®x2(034/048)

m

@Dx2

Bx3

‘M =
®x1 Oxz

—_—

@10

RX8 SX2 Qx4 11 Spare: Rxl1. S*1. Q1. T*1
M8 X 40 M8 X 28 M6 X 26 M8 X 53 ZX1PCS
~
9
J
_________________ N\
Stepl — -:
|
Ox2 |
|
|
|
|
Ox1 |
|
|
¢ = |
T4 |
®x2(034/048) 8 %53 |
|
_________________ d
J
_____________ \
Step2 Ir —I
| _jEZZijZ? |
| |
| o |
| ) |
| (O |
| |
| [ ] |
| |
I TX4 I
\\ | M8 X 53 |
\ L ___ i
|
\ /
\ /
\ /
N 7




Step3

Step4

Stepb

Stepb

please don’ t hesitate to

You can reach us through your order. Thanks for your support!

If you have any questions about the product,

contact us.




